SWAMI NITYANAND INTERNATIONAL ACADEMY, DANTA
cLAss-vIth SUBJECT- MATHS SA-1 MM: 60
Q: 1 Simplify:
(i) 975 x (—105) + 188 — 56 + 7
(ii) 8020 + 20 — 121 + (—11) — 156 + 4
Q: 2 If 8 items of same price can be bought for Rs. 11. Find the cost of each of them.

Q3 Two numbers.are in t.he ratio 10 : 1 and their LCM is 360. Find two numbers.

i 18 21
Q=g p=rs

ut |

@4 compare : (l):f; .
&'5 (i) Write two integers whose product is greater than both the integers.
(ii) Write the two integers which are less than — 8 but their difference is greater
than -8.

®¥6 Divide the sum of 33.56 and 75.098 by the product of 8.97 and 1.35. Round off
upto two decimals.

-Q: 7 Simplify: (i) (7%)3 + 7° (i) (152%° + 1522) x 152
Q: 8 Using the laws of exponents, simplify and write the answer in the exponential form.

.~ 35 x153x510 Lo 45 x93x 210
(@) 203x57 (”’) 103x63

Q: 9 Express

-\ 6 . .
(i) ; asa rational number with numerator equal to 30.

(ii) (- 12) as a rational number with denominator equal to 9.
Q: 10 Find the number from each of the expended forms and write in the scientific
notation.

(6 X107 +2%x10°+4x10°4+8x10*+1x10%3+3x10%+5x 10"+
9x 10°

((iH1x10°+2x10*+3x103+4x10%2+5x10*+6x10°

Q: 11 A truck uses 20L of diesel to cover 150 km. How much diesel will be needed to
cover 900 km?



Q: 12 Express the numbers using exponential notation:
At
841 y

(i) 7776 (i) 5oy

Q: 13 Rohan has 8 balls less than 6 times the balls Rohit has. If Rohan has 34 balls, how many balls
does Rohit have?

Q: 14 Multiply :- (8p + 4q + 67) and (6r — 4p — 8q)
Q: 15 Solve the following equations:-
(i) 4x — 10 = —6x — 30 (ii)14x +1.0 =0.8x + 1.6

Q: 16 The ration of the age of Parul to her fatheris 6 : 10 . If her father’s age is 60. Find the age of the
Parul.

Q: 17 Subtract:

—6x% — 8y? — 122% — 16, from the sum of —6x? — 10y% — 1622 and — 2x2 — 8y? + 472

Q: 18 Fill in the blanks with > or < or =
(i)4:5___ 5:4(ii)3:7__2:5
(iii) 1:2___1:2 (iv) 6:13_6:13
Q: 19 One angle is four times it’s complement. Find the two angles.
Q: 20 How much is O greater than —ab + 3a — 4b?
Q: 21 Express the following as a product of their prime factors.

(i) 27000 (ii) 6400 (iii) 100125  (iv) 1,36,125
24 _
Q: 22 By what number should pye be multiplied to get 3.

Q: 23 Add giving answer in litres, grams and meters.
(i) 760 ML and 3789 L (ii) 5189 g from 5.6 kg

(iii) 758 cm and 1.34 cm (iv) 12.89 ¢cm and 297 cm

84

60 o 1
100><7-7-; (”)1—06 of 2kg

Q: 24 Solve (i) 1 1—12 %

Q: 25 Find the quotient in each of the following:

(D7 +(-1) (()18+(—3)  (iii) — 625 +5 (iv) — 289 + (—17)
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1. Read the following passage carefully and answer the questions that follow it. 8

Studentstend to lose their pencils, break them without thinking, and find all sorts of non-writing uses for them.
The pencil in your hand is one of the most remarkable and useful tools in the world. A man named Friedrich
-Staedtlerinvented the modern “lead” pencil in about 1622 in Germany. He was the first person to mass produce
them. Staedtler did not use lead, and there is no lead in your pencil. However, some pencils did use lead until the
early twentieth century. Lead will make a mark, but it is toxic and not safe to use either in the hands or around the
face and mouth where many pencils sometimes stray. Staedtler used black graphite, a soft form of carbon.
Graphite s still used today. It is mixed with clay and wax and heated to high temperatures. The modern pencil is a
superb piece of technology. The pencil is less messy than'ink, can'be easily erased, and makes clear, dark, smooth,
~and smiid“é‘é free lines. The modern pencil can produce a cofttinitious line twenty-two miles long. That’s a distance
of 116,Mfoot—'lohg rilersilaid end to end. Enjoy your penc"“il.’For%ﬁéw cents each, it is a remarkable bargain.

- a) Men™0three improper ways in which students make use of pencils.
b) L& 4arely used to make pencils. Why so?
c) Of vi¥material are pencils made of?
d) Winy-eari'we consider the modern pencil to be a superb piece of technology?
e) The ™sdern pencil can produce something fantastic. What is it?
f) Find words in the passage that mean the following:-
i) Poisenous=
ii) Rermeweeksomething completely=

N R R R RN

" 2. Read+thie:following passage carefully and answer thesguestions®hat follow it. 7

€

* Have you heard people saying that the 'rupiah makes the world go round? Do you know the story of the rupee?

* The word rupee comes from the Sanskrit term ‘ Rupya’ or “Rupa’ which means silver. The very early coins before

« the secaud-century BC, were all made of silver but the coins were neither of any standard weight nor had any face
or vaksegprinted on them. It was Sher Shah Suri who first gave the name “rupia” to the silver:coins. The last silver
-oins yere minted in 1940 with the face of King George VI on them. In 1942 the silver coin was replaced by a cupro-
nickel.coin for the first time. Money was invented by man to get power but now money has become more powerful
than.gagn:All over the world, money and power go together. The more money a person has,the more successful
he I&Mdto be. A rich man is accepted by society even if he is corrupt or evil. Man works hard to earn more and
more MaRey. and saves alot of it: Hesthinks that money will give*him“more freedom to enjoy himself and to have

. lots oﬁ%e thinks he will not be anyone's slave but be his.own.master. But soon he becomes the slave of money.
The ggggihe has, the more he wants..He is never satisfied with what he has got but always wants something more

even.%_h he knows that in the end, he cannot carry anything with:him. Money can buy everything but it cannot

buy pgage or happiness or a ticket to heaven.

a) The@rly coins were made of... 1
(i) copper (ii) gold (lll) sulver (iv) lead

b) The cupro-nickel coins came into existence in the year......n 1
(i) 1924 (i) 1942 (iii) 1429 (iv) 1294

€) TOAAY MONEY iSuurerssersersmssssssssneee 1
(i) less powerful than man (ii) equal to man (iii) more powerful than man  (iv) none of the above

d) Society willingly accepts....cocvenasnsessinnes from a rich man. 1
(i) honesty (ii) corruption  (iii) bribery (iv) none of the above

e) The word satisfied can be replaced by.........ccnnniunenas 1
(i) contended  (ii) bright (iii) eager (iv) thrilled

f) Choose a suitable title for the passage : 2

a) Importance of money b) History of silver coins ¢) Man and money d) All the above



3. AnsWer the following questions. (ANY ELEVEN)

1.

2
3
4
5
6.
-
8
9

Why did the king want to know answers to three questions? (Three questi;:ns)
Why was the king advised to go to magicians? (Three questions)

How did the king and the hermit help the wounded man? (Three questions)
How does Ravi get milk for the kitten? (A Gift of Chappals)

Why is it good to have rebels? (The Rebels)

Why did the king want no more talk about the hilsa — fish? (Gopal and the Hilsa Fish)

Who is the speaker in the poem ? (The Shed)
What jobs are new ants trained for? (The Tiny Teacher)

Finding good twings for Kari took a long time. Why? (Bringing up kari)

10. Which do you think is an apt description, and why? (The Dessert)

11. How do the smaaler desert animals fulfil their need for water ? (The Dessert)

12. What was Soapy’s first plan? Why did it not work? (the cop and the Anthem)

4. Write T’ or ‘False’ against each of the following.

1.
2,
-
4.

Soapy sote a man’s umbrella.........

The owner of the umbrella offered to give it to Soapy............
The man had stolen the umbrella that was now Soapy’s..............
Soapy threw away the umbrella...................

5 Write the antonym to the following on based the poem ‘ The Rebel’

1

long 2. Grow 3. Quteness 4. Sober 5. Lost

6 Use the collective nouns given in the box to complete these sentences. (ANY FOUR)

2X11=22

crowd , team , fleet , swarm, colony

B 0. M g

5.

The Indian cricket ............ won the World Cup in the year 2011.
Antonio’s ..., of ships were said to be all lost at sea.
The boys were attacked by a ................ of bees.

Alarge ...........gathered in the street.

There is @umvvvosssrnenen. of ants under the rotting tree.

7. Write a story on the following one topic that given below.

Alion and Mouse And  Hungry Fox

8. Write an essay on the following topic.

A Scene of the Railway Station
And

Save Tree Save Water

9. Write an Application to your school principal to issue your transfer certificate due to transfer of your father

Danta to Jaipur .

Best of Luck
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A: Choose the correct option in each of the following- 1x<6=6

(i) Which of the following is the symbol of Gold?
(a) Gd (b) Ag (c) Au (d) Pb []
#(ii) A Soap solution is -
(a) Acidic (b) Alkaline (c) neutral (d) None of these []
(iii) Rusting takes place in —
(a) Air-free moisture (b) Moisture free air (c) Moist air (d) None of these [ ]
(iv) Sweating causes cooling by -
(a) Conduction (b) Radiation  (c) Convection (d) Evaporation []
(v) To make a battery of 9 volts, how many 1.5 V cells are needed?
(a)6 (b) 5 (c)4 (d)3 []
(%) Which of these form virtual images only?
(a) Concave mirror (b) Convex mirror (c) Concave lens (d) Convex lens []
B: Fill in the blanks- 1X6=6
{i) Digestion begins in the
(ii) A image can be formed on a screen.
(iii) A closely wound length of wire is called a
(iv) Wool has a tensile strength.
(v) An acid is by a base.

(vi) Atoms are neither lost not in a chemical reaction.

C: Match the following columns A to columns B. 4
A B
a) Helium ' - 1Hg
b) Mercury - 2 He
c) Copper - 3 Pb
d) Calcium - 4p
e) Phosphorus - 5Cu

f) Lead - 6 Ca



D: Answer the following questions in not more than 20 words. 2xX10=20
() Define Acids.

(i) Define the chemical change.

(i) What do you mean by the throwing of silk?

(v) How does heat from the Sun reach the Earth?

(v) When is body said to be in motion?:

(vi) Mention four applications of electromagnets?

(vii) State two uses of a convex lens.

(viii) What are enzymes?

(ix) What is digestion?

(x) What do you understand by the rectilinear propagation of light?

E: Answer the following questions. 4 X6 =24 (Any six)
(i) How is a rainbow formed?

(i) What happen to food in the small intestine?

(iii) What is a fuse? How does it work?

(iv) Plot a distance — time graph for a body travelling at a speed of 2.5 m/s.

(v) Distinguish between the Celsius and Fahrenheit scales?

(vi) Distinguish the chemical of properties of wood?

(vii) Discuss an example of physical and chemical changes happening together?

(viii) Write the properties of an acid?
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Section- A 5
1. verrrrserenenenns 15 @ biotic component of the environment. !
a. Man b. Rivers c. Soil d. Water
2. Coal is foundin swws s TOCKS?
a. sedimentary b. metamorphic c. igneous d. minerals

3. The Mongols were a barbarious tribe of ................ .

a. Europe b. Central Asia c. Turkey d. Sind
4. The gateway to the temple is called...................
a.Ur b. Gopuram c. Shikha d. Math
5. i 18 the executive head of the state.
a. Governor b. President c. Chief Minister d. Prime Minister
Section- B | 5

Fill in the blanks:-
1. The Right to Information Act was passed by the Indian Parliament on ............

2. The solid crust of rocks forming the surface of the earth is called.iwvissmonen

3. verrrrrenn Wrote many books on medicine, grammar, astronomy and religion.
4. Arab.conquered Sind and Multan under ... in 712 A.D..
B vrieeesereeenennn 18 the primary unit of administration.
Section- C 5

Match the following columns A to B:

A B
1. Soil a. Abiotic
2. Plants b. Atmosphere
3. Radio communication e Biospﬁere
4. Zone of life d. Lithosphere
5. Rock e. Biotic
Section- D 2x15

Answer the following questions (Any 15)
1. Define pollution.
2. What is an earthquake?

3. Define seismology.




4. State any two landforms made by wind.

5. Name any two landforms made by glaciers. _
6. State any two important factors influencing the distribution of insolation on the earth.
7.“Ozone layer is very important.” Give reason.

8. Who wrote Rajatarangini? What was its theme?

9. Who was Babur?

10. What is feudalism?

11. Who built the Sun temple at Konark?

12. What was Ur?

13. What were guilds?

14. What is democracy?

15. What are the two types of democracies?

16. What is the tenure of the Legislative Assembly?

17. What is an ordinance?

18. What is public opinion?

19. What is advertising?

Section- E 3x5
Answer the following questions (Any 5)
1. State any four features of biosphere.
2. Describe the major landforms produced by wind.
3. Explain the major literary source of information regarding the Medieval Period.
4. Explain the administration of the Chola rulers.
5. Explain any four features of democratic government.

6. Explain the social impact of advertising.
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SUMMATIVE ASSESMENT -1 (2019-2 9)
CLASS- VII SUBJECT: G.K. MM: 80 TIME: 3 Hours
Q: 1 Answer the following questions: 2x%20
a) Who is the present Home Minister of India?
b) Who is the present Defence Minister of India?
¢) Which is the second smallest continent in the world?
d) Which is the largest hot desert in the world?
e) Which is the second largest country in the world according to
population?
f) Which is the largest river in the world?
g) Which is the highest large lake in the world?
h) Who is the author of “Arthshastra”?
i) Who is the author of “Swami and friends”?
j) Which is the smallest city in the world?
k) Who is known for his amazing strength?
1) Who is known as the Nightingale of India?
m) Who was the wife of Jahangir?
n) Narendranath Datta is better known as-
0) Which country hosted the first three cricket world cup?
p) Which country won the first two cricket world cup?
q) When did women played their first cricket world cup?
r) Where is located a huge Buddhist temple?
s) Where would you find the research stations Maitri nad Bharati?
t) Who is the author of “The Merchant of Venice”?

Q: 2 Answer the following questions: 3x5
a) Match the following authors to their works-
(i) O henry 1. Panchatantra
5 (ii) William golding 2. Lord of the flies
: (iii) Vishnu sharma 3. The gift of the Magi
b) Write the name of three movies which based on athletics.
c) Match the classical dances with their region-

(i) Kathakali 1. Assam
(ii) Sattriya 2. Andhra Pradesh
(iii) Kuchipudi 3. Northern India

d) Name the three formula one drivers.
e) Name of the three summer Olympic sports.

Q: 3 Answer the following questions:- 5x5
a) Who develops computer software?
b) Who is called an astronomer?
c) Write the difference between folk dance and classical dance?
d) What is theatre?
e) Write the full forms:
(i) ISRO (i) NATO (iii) IAF (iv) WAN (v) BIOS
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